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library (MASS)
Cx <- subset(anorexia,Treat=="Cont",select=c("Prewt","Postwt"))
Fx <- subset(anorexia,Treat=="FT",select=c("Prewt","Postwt"))
anox <- data.frame(
Treat=factor(c(rep("Cont",length(Cx$Prewt)) ,rep("FT",length(Fx$Prewt)))),
Prewt=c (Cx$Prewt ,Fx$Prewt) ,Postwt=c(Cx$Postwt,Fx$Postwt)) D
ooooocoooooooDo
~ http://phi.med.gunma-u.ac.jp/medstat/kadai6a.R N
attach(anox)
stripchart ((Postwt-Prewt) “Treat,method="jitter",vert=T,
main="Weight changes by treatment",ylab="Weight changes (1bs)")
Mx <- tapply(Postwt-Prewt,Treat,mean)
Sx <- tapply(Postwt-Prewt,Treat,sd)
Ix <- c(1.1,2.1)
points(Ix,Mx,pch=18)
arrows (Ix,Mx-Sx,Ix,Mx+Sx,angle=90,code=3)
print (vr <- var.test((Postwt-Prewt) “Treat))
t.test ((Postwt-Prewt) “Treat,var.equal=(vr$p.value>=0.05))
detach(anox) )
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Weight changes by treatment
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F test to compare two variances ‘\
data: (Postwt - Prewt) by Treat
F = 1.2458, num df = 25, denom df = 16, p-value = 0.6587
alternative hypothesis: true ratio of variances is not equal to 1
95 percent confidence interval:
0.4766073 2.9699299
sample estimates:
ratio of variances
\\ 1.245775 4/

var.testO D0O0O000 FOODOODO p-valueDOOODOO0ODO 0.658700002000000000000




Two Sample t-test
data: (Postwt - Prewt) by Treat
t = -3.2227, df = 41, p-value = 0.002491
alternative hypothesis: true difference in means is not equal to 0
95 percent confidence interval:
-12.549248 -2.880164
sample estimates:
mean in group Cont mean in group FT
-0.450000 7.264706
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http://phi.med.gunma-u.ac.jp/medstat/bmi.txt 0000 000000000000 D 18000000 BMI (Body Mass
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dat <- read.delim("http://phi.med.gunma-u.ac.jp/medstat/bmi.txt") 0000000000 dat00O0O0O0OOOO
000doooooveD 00000000 SsExOBMIOOOOODO BMIDOOOOOOOO AGEODOOOOOO

000 Omales <- subset(dat,SEX=="M") 000000 00OCO0OOO0O0DOOUOOOUOOOOO0OODOOOOOOOOOUODODOO
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